
N = 1873
1873 circles in a circle

radius =   0.021647540717
ratio  =  46.194623817416

density  = 0.877717803774
contacts = 3517

 E.SPECHT
26-APR-2014

N = 1874
1874 circles in a circle

radius =   0.021646982585
ratio  =  46.195814870330

density  = 0.878141136340
contacts = 3329

 E.SPECHT
26-APR-2014

N = 1875
1875 circles in a circle

radius =   0.021646095266
ratio  =  46.197708533495

density  = 0.878537700519
contacts = 4009

 E.SPECHT
26-APR-2014

N = 1876
1876 circles in a circle

radius =   0.021641792356
ratio  =  46.206893752015

density  = 0.878656822895
contacts = 4288

 E.SPECHT
27-APR-2014

N = 1877
1877 circles in a circle

radius =   0.021634756785
ratio  =  46.221920123777

density  = 0.878553690027
contacts = 4069

 E.SPECHT
27-APR-2014

N = 1878
1878 circles in a circle

radius =   0.021633331528
ratio  =  46.224965337043

density  = 0.878905939963
contacts = 4703

 E.SPECHT
28-APR-2014

N = 1879
1879 circles in a circle

radius =   0.021632459851
ratio  =  46.226827965666

density  = 0.879303076775
contacts = 5027

 E.SPECHT
28-APR-2014

N = 1880
1880 circles in a circle

radius =   0.021619310041
ratio  =  46.254945144978

density  = 0.878701785267
contacts = 3358

 E.SPECHT
28-APR-2014

N = 1881
1881 circles in a circle

radius =   0.021612015700
ratio  =  46.270556800455

density  = 0.878576017709
contacts = 4642

 E.SPECHT
23-APR-2014

N = 1882
1882 circles in a circle

radius =   0.021607794431
ratio  =  46.279596152751

density  = 0.878699740252
contacts = 3448

 E.SPECHT
24-APR-2014

N = 1883
1883 circles in a circle

radius =   0.021605157046
ratio  =  46.285245594624

density  = 0.878952033107
contacts = 4298

 E.SPECHT
24-APR-2014

N = 1884
1884 circles in a circle

radius =   0.021597926434
ratio  =  46.300741093867

density  = 0.878830283078
contacts = 3561

 E.SPECHT
24-APR-2014


